Use the **Distributive Property** to rewrite each expression.

1) 
$$3(8 + 2) =$$

5) 
$$(2 \times 8) + (2 \times 2)$$

6) 
$$(4 \times 8) + (4 \times 2)$$

7) 
$$(6 \times 8) + (6 \times 2)$$

Use the **Distributive Property** to rewrite each expression.

1) 
$$3(8+2) = (3 \times 8) + (3 \times 2)$$

2) 
$$4 \times (2 + 6) = (4 \times 2) + (4 \times 6)$$

3) 
$$5 \times (2 + 6) = (5 \times 2) + (5 \times 6)$$

4) 
$$6 \times (2 + 6) = (6 \times 2) + (6 \times 6)$$

5) 
$$(2 \times 8) + (2 \times 2) = 2 \times (8 + 2)$$

6) 
$$(4 \times 8) + (4 \times 2) = 4 \times (8 + 2)$$

7) 
$$(6 \times 8) + (6 \times 2) = 6 \times (8 + 2)$$

www.MathATube.com The Math A Tube is dedicated to helping parents and their kids with math.

Worksheet 1 Answers